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1. Answer all questions.

2. Al guestions camy equal marks.

3. Only one answer is to be given for each question, 2,2,

4. If more than one answers are marked, it would be treated as Wrong answer.

5.

Each question has four allernative responses marked serially as 1, 2, 3, 4. You have o darken the carrect 22
answer, ]
; 6. There will be no negative marking for wrong answer.
: 7. The candidate sheuld ensure that Roll Number, Subject Code and Series Code on the Cluestion Paper 22
X Booklet and Answer Sheat must be same after opening the envelopes. In case they are different, a
! candidate must obtain another Question Paper of the same series, Candidate himself shall be responsible
‘ for ensuring this. 22
| 8. Mobile Phone or any otfer electronic gadget in the examination hall is strictly prohibited. A candidate found
; with any of such objectionable material with him/her will be strictly dealt as per rules. 2 2
: 9. The candidate will be allowed to carry the carbon print-out of OMR Response Sheet with them on conclusion
of the examination,
10. if there is any sort of ambiguity/mistake either of printing or factual nature then out of Hindi and Englists 22
Version of the question, the English Version will be treated as standard.
Waming : If 2 candidate is found copying or if any unauthorised material is found in histher possession, 22
F.L.R. would be Jodged against him/her in the Police Station and hefshe would fiable to be prosecuted
under Sectiont 3 of the R.P.E. (Prevention of Unfairmeans) Act, 1992. Commission may also
debar_him/her permanently from all future examinations of the Commission, . 22
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What is demographic transition theory ?
(1) It is a model that describes age structure of population.

(2) 1t is a model that describes increase and decrease in population.

(3) It is a2 model that describes population growth over time.

(4) It is a model that describes a stable population at high level to stable

population at low level.
SThbIa ST & faaner @ 20
() =& fosm omg W= & ax §  amn ¥
(2) ue fhem sEen & @eY ok wt ¥ kN wawr ¥
(3) ws frar am el srwem gfe & Ay d wamn 3
(4) == Frgm TEen ¥ 9w Wl ¥ P wldwor ¥ v
H qaEr sl

What we mean by Natural Increase of population ?

(1) 1t shows birth rate minus death rate.

(2) It shows in-migration rate minus out migration rate
(3) It shows net population growth.

(4) None of these

e S wetie gfe ¥ T wmn oA £

(1) & 99 W a9 Jg T & oW} @ @ ¥
(2) UE WAFIY & SR S

(3) & SMEem ¥ o ghg & Favar 3

(4) SWE d F & B T

What was app. population of India as per 1951 census ?
(1) 30 crore

(2) 33 crore

() 36 crore

@) 39 crore

Y 1951 &I SFVE % TUR WG @ oTERY wm i ?
() 30 TW=

(2) 33 »Us

3) 36 =V

(4) 40 Fds
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What is meant by population stabilization ?

(1)  When the size of the population rémains unchanged,
(2) State of zero population growth.

(3) Where births equal deaths.

(4) All above three

saen Rerdeor & sma @ ard § 2

(I) S9& ®1 FaR ¥ ®iE Sea™ T &l

(2) wrEEn W ghe = I e

(3) W9 9 Y I EXEX 8N

(4) S9Uw A W

What is meant by replacement of .feni]ity ?

(1) When total fertility rate is 2.1 children per woman

(2) When total fertility rate is 1.1 children per woman

(3) When total fertility rate is 1.5 children per - woman |
(4) When fotal fertility rate is 2.0 children per woman

e 4 4 s Rafy woem @ wRremen @ aafd 32
(1) 9 gw o\ & 2.1 999 9fy Al &

(2) w9 FW W & 11 F= gfy Al @

(3) 9 PW UM W 15 g gfy wiken @

(4) V¥ P9 YSET ST 2.0 = wiy d@fewm on

.What is meant by BIMARU States ?

(1) Bihar, Madhya Pradesh, Rajasthan, Uttaranchal’
(2) Bihar, Manipur, Rajasthan, Uttar Pradesh

(3) Bihar, Maharastra, Rajasthan, Uttaranchal

(4) Bihar, Madhya Pradesh, Rajasthan, Uttar Pradesh
T I oW g R

(1) FER, nemiy, teRaM, SOidw

(2) fEr, =R, TeraE, sToRe

(3) fEr, mwrwy, weraw, SoxE

(4) ToER, WAYIY, NERAW, ITRHT
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7 What does the child sex ratio indicate in India ?
(1) Number of females per thousand males
(2) Number of girls per thousand boys
(3) Number of girls per thousand boys in age group 0-6
(4) Number of boys per thousand girls in age group 0-6

qRa H T {60 ogwa fewwr qoln ¥9

(1) 1000 G&t & Wy wigwmed & we

(2) 1000 wewi Uy wefwmt & €&

(3) 1000 wew! uy wefeal & "Em 0-6 omg = #
(4) 1000 wefwdl X ws&l @ den 0-6 ang @t #

8  What is long term objective of National Population Policy 2000 ?
(1) To achieve stable population by 2040
(2) To achieve stable population by 2045
(3) To achieve stable population by 2050
(4) None of these

TR SeEEn Wy & g Sgvg wn %7
() 2040 ¥ srEEn fediemzwr e &en
(2) 2045 W wseEm el g @
(3) 2050 ¥ e Raderor gr @
(4) Ut ¥ & wmE T8

9  What is meant by infant mortality rate ? _
(1) Number of infant girls dying per thousand live births
'(2) Number of infant dying per thousand live births
(3) Number of mfant boys dying per thousand girls
(4) Number of infant deaths in a year

iy ¥ =X A T o e ¥9
(1) 1000 ¥ 9% "9 9wl wefedl @ et
(2) 1000 5™ WX AT A firgredl @1 wem
S (3) 1000 ST WX " W @S @ GEn
(4) uh @ ¥ " T fgen & "
22/ POPUSTD33_Aj 4 |||||||H||||||”"| [Contd...
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10 What is meant by maternal mortality ratio ?
(1) Number of mothers dying per lac population
(2) Number of mothers dying per lac live births
(3) Total number of mothers dying from maternal

causes

(4) Number of women dying per lac pregnant women

A AT ¥ w1 awwd ¥ 7

(1) 1 " Ve W WA Ol uwel @ ge

2) 1m?ﬁwqﬁaﬁhwaﬁﬁé@1
(3) o ARl N e W v ¥ erov

G

(4 1 @@ mied afkwel ¥ 9@ 9o ael 8 9

&

11 What are the major sources of pdpulation data 7
(1) Census of India
(2) Birth-death registration system
(3) Sample surveys
(4) Al of these

W e siesl w1 ey w7
(1) ad™ s

(2) -3 dREF yorel

(3) dmw ad

(4) Sel=w A

12 Census of India provides :
(1) Information regarding total population

22
22
22 -
22
22
22
22
22

22

(2)  Information regarding wrban and rural population

(3) Information regarding religious composition of
4) Al above '
AR SEE B ded ¥ st wgw e 2
() g wEen
(2) urfvr g RO SEEE
(3) ud & oTgER wEEn
4) SR 9 §d %
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Rajasthan's annual population growth rate is 2.5% calculate the doubling
time for this population.

(1) 28 vears (2) 30 years

(3) 36 years (4) 4l years

o & e sden afg ax 2.5 uRied ¥, U@ ReR 7 ew @
ga swEen g e ¥ R ad @i? :

(1) 28 T« 2 30=9

(3) 35 =W 4 41 Ty

World population size in 1993 was 540 crore, what was the po;:’ulation,I
size in the year 2000 ? (If r = 0.0139)

(1) 595 crore (2) 655 crore
(3) 600 crore {4) 750 crore

yyg A SEEn a§ 1993 ¥ 540 &3S A, @ 2000 ¥ ¥ swEE fHal
 of seEen @ aifs gRs T 0.0139 i ¥°?

(1) 595 Fe (2) 655 &S
(3) 600 WS (4) 750 HUS

2000 children were bom to 2000 mothers in a Jaipur city in 2011 and
out of these 5 mothers died due to pregnancy related causes. What is
Maternal Mortality Ratio for Jaipur ?

(1) 230 (2) 500

(3) 100 | @ 150

ad 2011 ¥ wEYR A 2000 RIS Y 2000 Tl &1 SN R, §H W UG
e v ¥ gt @i ¥ W ) 99 ad SagR w1 wg-gy I
= oAT?

(1) 250 (2) 500

(3) 100 4y 150
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16 Twenty one boys and nineteen girls were bomn in a Develi Village in the
year 2011. According to the Panchayat Samiti records, the total population
of the village was 2000 in that year, What was the crude Birth rate of

Develi Village ?
(1 20 (2) 25
3 21 - {(4) None of these

Tl i W oA 2011 W 21 Wes @ 19 wefeai Y1 gd, vumw wiiid Qo
& orgere ga 2011 ¥ wiw A e 2000 A 3w T I v A 5o

S E F 41Y 00
(1) 20 @ 25 a 22
G) 21 @ v ¥ ¥ B 22
22
. . . 22
17 Population of Haryana increased from 2.0 crore in 2001 to 2.5 crore in
2011. What is decadal populatiqn growth rate for the State ? 22
(1) 20 (2) 25 322
3y 21 @ 15 29
Fharn Toa Wl g euerl 2001 ¥ 2 &0 ff, 9% WewT 2011 W 99
25 @%@ W W IEE A Sy s gis e W 37 no
(1) 20 @ 25 22
3) 21 @ 15 | 22
| 22
18 What is the World's abpréximate population today ?. 22
(1) 500 crore (2) 600 crore 22
22
(3) 700 crore (4) 800 crore 22
et faya N e SeeEn e ¥0
(1) 500 %0 . (2) 600 ®aT
(3) 700 & (4) 800 HI
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How much percentages of world population inhabit India ?
(1) 11% 2) 15%

3y 17% 4 2%

fqya @i pw swEEm @ fEaw wfdew wra § @ &0
() 11 whisa 2y 15 wfaem

(3) 17 wiysa (4) 22 yliisw

Which of the following the State is most populous as per 2011 census ?

(1) Andhra Pradesh (Z) Maharashtra

(3) Rajasthan (4) Bihar !
freiriaa et 9, 2011 & ST & SMER TER oifyw wEE 9w
™ R

(1) o wast | (2) wWerE

(3) A @ fwer

Working population includes those persons who fall in the age group of

(1) 20-60 years (2) 15-60 years
(3) 35-59 years ' (4) 15-39 years
HHGSH @ BT A W o w7 |

(1)  20-60 o (2) 15-60 g
(3) 35-59 ¥ (4) 15-59 a9

Which of the following State has the lowest child sex ratio in India as
per 2011 census ?

(1)  Gujarat (2} Punjab

(3) Bihar (4) Haryana

Frafalan ool #2011 ) SFoMT % SigER TRY &W AW R e
CIC I i

() T (2) vy

(3) MR (4) wheamn
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What does N. P. P. stand for ?

(1) National Popu:lation Programme
(2) National Population Project

(3) National Population Policy

(4) National Population Planning

W 4l § T wn oA § 7
(1) AT TR TR
(2) AyFE WYATHE YW
(3) FAyw UIgHIE Wil
(4) I YA AT

o

What is percentagé of urban population of India as per the 2011

census ? :

1) 29% ' 2) 31%

3) 33% . 4 35%
2011&@%%@@?@&3@@@@@%%@1&1?
(1) 29 ufem (2) 31 wfasw

(3) 33 wiwma 4) 35 wfaa

What is the population of Rajasthan as per 2011 census ?

(1) 6.86 crore (2) 7.01 crore
(3) 6.66 crore @) 6.99 crore
2011 & ST ¥ APEAR ICRAN B Fa srrae fean o8 ?
(1) 6.86 ®UT . 2) 1701 ®US

(3) 6.66 wUS 4 699 BT

How many people live in Jaipur city as per 2011 census ?

(1) 30 lac (2) 35 lac
(3) 38 lac (4) 40 lac
20113%61%%@43&1?@3‘{&%1&% qi?
(1) 30 @@ (2) 35 @@
(3) 38 W@ (4) 40 W@
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27 Which district of Rajasthan has the lowest total population as per 2011

census ?
(1) Barmer
(3) Jaisalmer

(2) Jhalor
(4) Sirohi

20_11ﬁaww$awﬂmmﬁwﬁmmmﬁﬂm

BT w?
() IR (2) wER
(3) awAx (4) frod
28 How many people in India follow Hinduism ?
(1) 80% 2) 85%
(3) 75% @ 9%
9Ra H fe whem @ Ry ool B e e 0
(1) 80 gfem (2) 85 gl
(3) 75 wiaw 4) 90 wfam

29  What is the least populated State in India as per 2011 census ?
(2) Arunachal Pradesh

{1} Rajasthan
(3) Uttaranchal

(4) Sikkim

2011 ® STEET ¥ SgER YR N WE¥ B9 SEEEH dl oY

H-—ur &7
(1) =
(3) wayugw

(2) oTETTEE W9
(4) Tafrpn

30  Around one-third of India's population resides in following States ?
(1) Uttar Pradesh, Bihar, Andhra Pradesh
(2) Uttar Pradesh, Maharashtra, Bihar
(3) Uttar Pradesh, Bihar, West Bengal

(4) None of these

T B s Tl sl Py T N wedt &0

(1) Sawweyl, fsR, ey
(2) STUEY, "WERTE, fysr

- (3) Tawwey, fer, iyl @Tm

(4) Sl ?ﬁfﬁ T ¥
22/ POPUSTD33 A}

10

I (Conca..



31

32

33

22/ POPUSTD33_A] 11 ”IH"“I“““I"' [Contd...

What is the Malthusian theory on population ?

(1) Population increases in a geometrical ratio, whereas food supply'

increases in an arithmetic ratio.

(2) Population increases very slowly, whereas food supply increases very

fast.

(3) Population increases in an arithmetic ratio, whereas food supply

increases in a geometrical ratio.

(4) All of these

‘Hreag’ W saEn aeld wed &7

(1) Wgﬂﬁﬂﬁvﬁﬁaﬁﬁ%mﬁﬁ@mwva#ﬁmavﬁ

¥ gt ¥ .
(2) SeEEn Ae Ty @ Sear ¥ wets wa gEEl oSN @ wedl ¥)

(3) SEEE el Soh el ¥ owale @ grnil e S

’-’faﬁﬁ_%l
(4) SEd AT T ¥

What factors can change a population's size ?

(1) Births and deaths (2) Births, deaths and migration
(3) Level of illiteracy (4) Level of poverty

¥ B BRE T W TEET & SHR B WAlAd B F7
() W g () W, TG T R
() T &1 ®Y ) TR B

What percentage of the India's popul.ation are under 15 ?

(1) 20% 2 21%

(3) 31% @ 25%

IRT B Pw e & feaw ufie@ 15 AW | wH 9 @ %7
(1) 20 w9 i @) 21 vkow

(3) 31 yfaew @ 25 wlya
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What is the approximate decadal growth rate of population of India
according to 2011 census 7

(1) 18%
(2) 19%

(3) 20%

(4) 16%

2011 N ST b SR 9T W IR e ghy @ a3 T AT
(1) 18 wfg@

2) 19 W

(3) 20 wfaya

4) 16 wfasw

State the most densely populated State of India.

(1) West Bengal

(2) Kerala

(3) Bihar

(4) Utiar Pradesh

291 H Y oifys SdEn TN g T sa-gr 22
(1) uiddr 9w

@ &

3 fwr

(4) O wBI

According to 2011 census, what was leve!l of literacy in India ?
(1) 74%

2) 78%

(3) 6%%

4y 80%

2011 @ SPET % AgER Wi N Rten e we @ om?

(1) 74 wfaga

(2) 78 wlasa

(3) 68 ufyE

(4) 80 wlaowr

22/ POPUSTD33 A] 12 |||||||||||l“|““| {Contd...
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What percentage of world land area is there in India ?

() 24% : 2) 34%

(3) 45% f 4) 15%

fava & pw ewww @ fham e wRa 7 &2

(1) 2.4 9idasE (2) 3.4 wiaye

3) 4.5 yRE 4 1.5 ylaga

Which is the least female literate state in India as per 2011 ?
(1) Bihar | (2) Rajasthan

(3) Uttar Pradesh 4) Madhya;{Pradesh

2011 & SO % ogER, W A wEd W Ak R awer o
BT §?

(1) faer (2) RN

(3) STWIN - (4) wwwam

On which data the World Population Day is being celebrated ?

1) 11 July @) 15 July
(3) 11 August (4) 12 January
S e SEE Gaw #9 AN § 7

(H 1 geE () 15 A%

(3) 11 I @) 12 e

World Population Day :was first celebrated in ?
(1) 1967 (2) 1989
(3) 1977 (@) 1987
g srweEn feaw usdl ar w9 TR T e
(1) 1967 | () 1989

(3) 1977 G)] 198?'.

22/ POPUSTD33_A]j 13
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Among the following information which aspect is not available in the
- sample registration system of India 7

(1) Migration () Birth

: (3) Infant death (4) Death

aqRa % Yuw Ui Wl 3 Prefeiaa welt § @ few g @@l g
Suwey T %7 .

(1) TR (2) w4

) g 5y @) 79

Reliable mortality estimates in India are available at ?
(1) National level

(2) National and state level
(3) National, state and district level

(4) National, state, district and block level

wra ¥ Tayeedm g o fRE WX W gves ¥7

1) WwE '\l W

(2) EE ug T WY W

(3) TEE, W @ e ®XOaY
@) wm, e, T R e 'Y W

As per the latest Sample Registration Bulletin (2010) which one of the
following category shows descending order for birth rate ?

(1) Orissa, Madhya Pradesh, Rajasthan, Uttar Pradesh
(2) Madhya Pradesh, Orissa, Uttar Pradesh, Rajasthan

(3) Uttar Pradesh, Bihar, Madhya Pradesh, Rajasthan
(4) Rajasthan, Uttar Pradesh, Madhya Pradesh, Orissa

e e ol qafe (2010) % ergER e g (@) #

A B FE w0 W) B FA0 wH A ;e R ¥7

(1) o, AERRY, TR, $Uuarl
(2) TeTyR9T, SEIEI, IATULY, TR

(3) Sameer, faer, weawdyn, SR
(4) STEAT, STRUAY, HEAURI, FSIE

22/ POPUSTD33 A] 14 ||||H||||\|‘||||l||l |Contd...
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Population growth can be measured by arithmetic growth rate, geometric
growth rate and exponential growth rate. But census reports in India
measures decennial population growth rate by which of the following ?

(1) Arithmetic growth rate

(2) Geometric growth rate

{3) Exponential growth rate

(4) Geometric growth rate and Exponential growth rate

WW@W%&WWWW% 29

T W AT &, UGg ANa § strorn fiis @ g ade See gheet 29
# P § & frw ogw w37

() "R ghieex 22
(2) v gheat | N 22
(3) Txaa@® giaat 22
() vafidi gieey ot aEis giex 32‘?'
IAﬁer going through the Assertion (A) and Argument (B), please select the 22
correct combination. : ' 29

Assertion (A) Child sex ratio (0-6) is on decline due to sex selective 22
abortion and female infanticide.

Argument (B) : Female children are felt a burden. 22
(1) (A) is correct, but (B) is wrong 22
(2) Both (A) and (B) are correct, and (B) is the correct explanation 22
of (A) ' 22
(3) (A) is wrong, but (B) is correct : 22
(4) Both (A) and (B) are correct, but (B) is not the correct explanation 29
of (A)
st (A) Ty R orgur (0-6 ) F BN en W@ ¥, wwitn T 22
| i T ok wen o sen & @ ¥ 22
G (B) : wWstwd @ qrw @A FEl ) 22
(1) (A) ¥ ¥ wg (B) o ¥ 22

2) (A) ot (B) =N w8 ¥ &R (A) W (B) W WEE T
G) (A @ ¥ I (B) 9§ ¥
@) (A) 8 (B) aF ¥ wwg (A) @ (B) T wliEmor W ¥

22/ POPUSTD33 Aj 15 I Contd...




46  Level of urbanization in India is low because ?
(1) Population size
(2) I1lliteracy
(3) Slow rate of economic development

(4) Low status of women
W A el S @ e m RRw bRy ¥ w37
(1) SFEEn # emsr

(2) e

(3) o ferem @ oph wfy

@) Rt @ Prr Refy

47  Arrange the major states of India in descending order where level of literacy
is high ?

(1) Tamil Nadu, Kerala, Maharashtra, Gujarat

(2) Kerala, Tamil Nadu, Gujarat, Maharashtra

(3} Maharashtra, Kerala, Tamil Nadu, Gujarat

(4) Kerala, Maharashtra, Tamil Nadu, Gujarat

urd & wgE T stei R w1 S sgue ¥, o wed @) ordd)
BH F WHR U W B ?

(h) <ifeg, T, wRRE, Ted

@) ¥E, Ty, R Ty

(3) FEIY, %W, WG, TeRE

(4) HTE, AEWE, BULCEICY NSRS

22 /POPUSTD33 A] 16 ”"m“mn" |"| [Contd...
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Match the denominators of the following indicators ?

(a)
(b)
(c)
(d)

(1)
(2)
&)
)

Indicators

Infant Mortality Rate
Maternal Mortality Ratio

®
(i)

Age Specific Fertility Rate (iii)
Age Specific Mortality Rate (iv)

@ ® (© @
® @ Gv) g
@O () () i)
B Gy 3 Gv)
) @® (Ov) (i)

denominators

No. of births in a year
Mid-year population

No. of people

n a specific age

No. of women in a specific age

=1 frafeal (Denominators) & Hahel ¥ fram BT —
- freier

(a)
&
©

@

(1)
(2)
)
“4)

Wb

g 79 =

g I T

g iy ge e &
oy fafde gy
@ ®) ) @
@ (D) (v) (i)
@ (v) G) (i)
@ Gy @i Gv)
) @ Gv) (i)

)

o o ¥ 3Q

S i f

(i) weg—ad & SRl
(i) omg ¥ wofel W e
(iv) omg & f=at & den

For calculation of crude death rate, the denominator is ?
(1) Total population of the respective area

(2) Total child population in age 0-4

(3) Mid-year population of the respectwe area
(4) Mid-year decadal population

g &7 & Torn % T Prafafas ¥ @ Pk (Denommators) HA T2

(1)
)
3
G

Column nLx in Life Table is ?

Tl &9 B P el

0-4 o % Tt @I P oTEEl

Hatyg o ¥ g @ e
T g § ey EEl

(1) Number of persons alive between ages x and x+n

(2) Person-year lived by persons during the interval x and x+n
(3) Number of deaths during the interval x and x+n

(4) Probability of dying between ages x and x+n

ooy aiftim o oW nlx @& ¥ 7

(1) &g x 8t xin ¥ <fifog =fral &1 gen
x ¥ x+n @ ¥ Siifya afm—ad

x § xtn 3o & S WE 9 B e
(4) xGﬂTx+nGiTg%ﬁ'GﬂHﬂﬂ%H‘iTlﬂﬂT

2)
)
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51

52

53

Maternal mortality ratio of India as per the latest estimates (2007 -09) lies
between ? :

(1) 150-200

(2) 201-250

(3) 251-300

4) 301-350

Prafefes % & wa ¥ 7 99 R &1 SgUE TE SAgEE (2007-09)
¥ AYUR YT BHEl AT § P

(1) 150200

(2 201-250

(3) 251-300

(4) 301-350 _ ' ¥

Based on the NFHS-3, arrange the States having the highest couple
protection rate by modern methods in descending order ?

(1) Andhra Pradesh, Himachal Pradesh, Uttar Pradesh, Rajasthan

(2) Rajasthan, Madhya Pradesh, Uttar Pradesh, Bihar

(3) Uttar Pradesh, Rajasthan, Bihar, Madhya Pradesh

(4) Himachal Pradesh, Andhra Pradesh, Maharashtra, Karnataka

1. U%. @@ wE. ~ 3 % oger Fratied owl ¥ R OR oud geen
g7 (amgfer el 3R w6 SEd e H T eRE 7

(1) oy, Rmaues, SOwey, TerenH

(2) TSR, WU, IAWeY, ¥
(3) STUIWEs, (RN, fYEr, #=mRer
(4) RowwRy, SRRy, "HETUE, FACE

According to census definition, Class II cities have population between ?
(1) 5,000-9.999

(2) 10,000-19,999

(3) 20,000-49,000

(4)  50,000-99,999

ﬂnﬁumﬁﬁﬁm%mﬁ?ﬁuw%wﬁaﬁm
e & we oMt ¥?

(1)  5,000-9,999

(2) 10,000-19,999

- (3)  20,000-49,000

(4) 50,000-99,999
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54 As per the Census 2011, which State recoded the highest urban
population growth ?
(1) Tamil Nadu {2) Uttar Pradesh
(3) Kerala (4) Andhra Pradesh

2011 A ST F AFER W W TR olve wRd smwen Jhe
P8 W ¥ gy °

(1) wifwTg (2) SAWEW |
(@) @ (4) amHwEy - 22
. . . . o 22
55 Which state is having the highest level of inter-state migration ? 22
(1) Punjab (2) Haryana
(3) West Bengal (4) Maharashtra 22
Pl s Tl A Row A ot ot w37 22
(1) G 2) sfamn _22
@) TRl @ @ N | 22
| 22
56 Urban population growth rate dlepends_ upon ? 22
(1) Natural growth rate : 22
(2) Addition of new towns/villages and boundary changes 29
(3) Migration rate ' 22
(4) Above theee
i e gReR it w37 22
(1) vl gheat @ § 22
@ T wE] T vl el @ wm @ 22
() wWFEFT @ | 22
(4) S dEr 22
22
57 At what stage is India, according to the theory of demographic transition ? 22
(1) High stationary stage (2) Early expanding stage 22
(3) Late expanding stage (4) Low stationary stage
ARG W SEiemd g e wum w g ?
(1) s=a Rewar dum (2) IRPE TER UM

) fTwfew var gum (4) Fr= R 9Om

22/ POPUSTD33_A] 19 ||"||||||]|H|||"j {Contd...




58

59

60

Which one of the following is not a preventive check on population growth
according to Malthus ?

(1) Postponement of marriage (2) Permanant abstinence from sex
(3) Birth control (4) Extra marital relations

A o HYAR e 3 F wiv-ar SuE Seen gig o Fema sEly
T ¥7 .

() Taae @ @i s (2) EEeE @ SEw

(3) ot Frore (@) PR Wy

Among the following which one is the indicator of social development ?
{1) Inflation rate

(2) Total food production

(3) School enrollment ratio of boys/girls

(4) Proportion of working population to non-agricultural sector
Frafvfae 4 SF-o1 qmfe e @ dhas 37

() ¥ & |

(2) Do @Er SdRd

(3) wskh/usfhal ®1 e H AWBOT

(4) fe—aly &3 ¥ Wi swdEn &1  hw

Which of the following is not contributing of sustainable development ?
(1) Land use planning

(2) Increasing bio-diversity

(3) Development of non-conventional energy

(4) National Rural Employment Guarantee Programme

frefufag & & oF-w1 Fdelia (Sustainable) faera & @m0 @<
E R? |

(1) fr STt s

(2) e Sfgw R

C3) Arureafs e @ Taer

(4) W g AR ME wEnE
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61  Which one is not considered in calculating the Human Development

Index ?

(1)  Expectation of life at birth
(2) Mortality rate

(3) Education attainment

(4)  Per capita income

ﬁwﬁrﬁgaﬁ@rﬁﬁaaﬁwﬁmﬁmmaﬁwmngﬁﬁ

e @1 A ?

(1) T IR gl steematy
2) TIR :
(3) sifts WY

(4) vt =fm amg

62  Female feticide is a consequence of ?
(1) Gender inequality
(2) Son preference
(3) Unethical medical practises
(4) Al of above

Frafefes & & &= o s fow wror & o 37

(1) T erEaEar

(2) ws= W TwEa

(3) orifas Afspw wrfyomel
(4) IRrR @

63 Most importance source of air population in ]arge cities Is :

(1) Poor sanitation

(2) Garbage accumulation
(3) Vehicular traffic

(4) Poor housing

AR T A A qR e @
(1) =fem g

() Tl F S B ogweer @

(3) Wi e

(4) TR v
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64
(1) 30/1000 live births
(2) 40/1000 live births
(3) 45/1000 live births
(4) 50/1000 five births

What infant mortality target NRHM wants to achieve on by 2012 ?

vﬁﬂuﬁmwﬁsﬁ%aﬁaﬂzomﬁﬁmﬂmﬁaﬁﬂmﬁw

W HH B oA P
(1) 30
) 40
(3) 45
(@) 50

Match the event in list 1 with list 2 : _

List - 1 List -~ 2
National Rural Health Mission(i) Year 2002
(i1} Year 2005
(iit) Year 20035
(iv) Year 2000

65

(@)
(b)
©
(d)

National Population Policy
National Health Policy
Jananni Sureksha Yojna
@ b ©

(i) @ v O

() (i) @) ()

() @) @ @)

i) (v @ (i)

(1
@
3
%)

T -1 F W gh - 2 F o A P SRA

g - 1

W M @rer R

T s g

T w@Rem ARy

S YR W

@@ ) © @

(i) (i) (v) @

() (i) Gy (v)

() 0y i) G @Gv)
4) Gy (v) (@) (i)

22/ POPUSTD33 A}

T - 2
2002
2005
2005 -
2000

(@)
(b
(©)
(d

®

(ii)
(i)
(iv)

(1)
(2)

—

22
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66 Which is not a right combination ?

)
@
G)
@)

First Indian Census : 1872
NRHM : 2001 - 2002
National Population Policy : 2000

Counting of disabled persons by census

Fr-a gl few W OE?

(1) W WRAY SEOHET —~

(2) TI. e, TE. A -

(3) W wEEE Wi —

(@) SEEr ¥ oW Al @ den -

67 In census of India, children of which age group are considered as

illiterate 7

)

0-4

) 0-5

()
4)

wRd W SR § BhY o wf % sl & Prew e o ¥ e

(1
)

0-6

0-7

0-4

0-3

(3) 0-6

4) 0-7
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68 Match the given period with phases of transition of India's population
growth during the 20% century.

(@)

®)

©)
(d)

(1)
)
€)
)

Period

1901-1921
1921-1951
1951-1981
_i981-2001

@ ®

) @
() (i)
() ()
@ G

Phase of demographic transition
(i) Steady growth
(i) Stagnation
(iii) High growth
(iv) Rapid high growth
{(v) High growth but definite signs of
slowing down .
© @
(1) (v)
(iv) (v)
(iv) (V)
(i) (v)

208 sl % AR WRA @ SEEn giE % aen @ R W e 9
. SR -

(a)
(b)
(c)
(d)

(B
()
()
4)

o - 1
Rl

1901-1921
1921-1951

1951-1981

- 1981-2001

@@ (b)
i)
() (i)
Giy ()
() (i)

22/ POPUSTD33 A]

g — 2
WA AT
() FPrafe gl
(i) TREF
(iii) oifes gha
(ivy st ¥ ot gha -
v) ghs & w1 B wx off s § gfa
() (d)
(i) (iv)
(v) (v)
(iv) (v)
(i) (iv)

2

-8
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69 Which one of these is a biological factor affecting fertility ?

(1) Age at marriage

(2) Fecundability

(3) Use of contraceptives

(4) Migration

WW@WW&@@%WWW%?
(1) frar & @ g ]

(2) ;E o (Srhs i)

() T Frdgw el w ST

(@) Tl

&

70 Match category 1 with category 2 :

Category - 1

Category - 2

(2) Post neonatal mortality (i) Deaths within 28 days of life
{b) Neonatal mortality

(c) Infant mortality
(d) Child mortality

@ (® ©
1 @ @) (i)
@ & O >
3y (i) i) (v)
@ (v v ©

(d)
(iv)
(iii)
v)
(ii)

(i) Deaths within first year of life

(iii) Deaths during 1-4 years of life

(iv) Deaths within 7 days after delivery
(v) Deaths during 29 to 365 days of life

g — 1 & ol - 2 % g BEe S -

T - 1
(a) WHIRY UG <X

(b) -E=ma iy g =

© fig 7@ =
d) I Y

(@ () (0
1 @ ) G
@ M O (@
¢y @) (i) (v)
@ vy (v O

22 / POPUSTD33_A|

(d)
(v)
(iii)
(v
(i)

T - 2
@) e ¥ 28 Rl & o TY
(i) WEm % ¥wgu uy & oY 9y
(i) S & 1-4 a4 & ST 9Y
(iv) waga & 9& 7 R & oiE T
(v) Saa & 29 ¥ 365 T & dRm oug
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71  Which one of the following terms is not associated with migration ?

(1) Push-pull factors (2) Place of destination
(3) Place of origin {4) Naiural growth rate
Previfen § ¥ P-a Syamm wERR % Ty ddtE T8 %7
(1) TE-—FT FRH (2) a1 e
(3) ™ BT WA @ ke gher

72 Who gave the Wealth Flow theory ?
(1) Caldwell (2) Doubleday
(3) Dumont @) Pearl and reed
Yuer watE @ R Reey fam? |
(1) wiesdw (2) swws

@) g @ v e o

73  Given below are two statements, one is labeled as Assertion (A) and
the other labeled as Reason (R) ?

Assertion (A) : Women in Kerala enjoy relatively high status.
" Reason  (R) : Divorce rate is high in Kerala
In context of above, which one is a correct combination ?
(1) Both (A) and (R) are ture, and (R) s the correct explanation of (A)
(2) (A) is true, but (R) is the not correct explanation of (A)
(3) (A) 1s true, but (R) is false |
(4y Above all three wrong
%ﬁmwﬁﬁﬁ%%mwaﬁmm(&@wm&&)%l
AFRYT  (A) ;. w W Tl @ o= gmees Rafr ¥
LD R) : ¥ F ddwm & oY ot %
(1) (A) 8T (R) 3 981 ¥ &R (A), (R) &1 981 @il )
(2 (A T T Y W), (A) & T s T ¥
(3) (A) ¥ ¥ g (R) owd )
(4) SIU OF TEa S
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74  Which one of the following sequence about women's participation in
decision making (based on NFHS-3) as given in ascending order is correct
one 7 '
(1) Rajasthan, Orissa, Assam, Bihar
(2) Bihar, Assam, West Bengal, Rajasthan
(3) Orissa, Rajasthan, Bihar, Tamil Nadu
(4) Rajasthan, West Bengal, Andhra Pradesh and Tamil Nadu

ﬁwﬁiﬁaﬁﬁ@ﬁﬁ—mmﬁ%ﬁmﬁmﬁﬁqﬁ%%mw@aﬂﬂﬁ
A ¥? (e ufaR wmRey 993 § AU W)

(1) Teraw, s, o, 9eR

(2) Frer, omam, ufyedl dUW, USRI

(3) <, wsgm, fyEr, afmeeg

(4) oW, Wl @, ermd, Ty
75 Match the following items given in category - 1 with items given on
category -2 ? |
Category - 1 Category - 2

(a) Theory of stable population (1) William Brass
(b) Singulate mean age at marriage (ii} Lotka
(¢) Intermediate variable - (iii) Hajnal
(d) P/F Ratio method (iv) Davis and Blake
{(v) Caldwell
@ b © @
1 @ @ G Gv)
2y G @) Gv) @)
@ O ) @) W
@) iy vy 0 @)
T -1 % A g - 2 % ud A P AR 7 R g A

¥ ¥f SR @ °9ET wi -
- 1 T - 2
(a) Fer wgen fa () fafwmwm @
(b) Tram ¥ ww Riqee ey (i) e
) mefE RS (i) &I
(d) . TH U wERi (iv) 3@ ds =%
(v) wiesad

@ (b)) © @
1 @ G G @)
@ Gy GGy @) @
G (v @) )
@ @) @v) ) (B
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